Addition
Worksheet-1

A. Fill in the blanks using properties of addition:
a) 25437 +0=
b) + 4132 = 4132
c) 11236 + 19632 = +11236
d) 43594 + 24351 = 24351 +

e) 23114 + (13445 + 16671) = ( + 13445) + 16671

B. Add together:

(i) 76 + 67 =

(i) 9 + 99 =

(iii) 318 + 426 =
(iv) 98 + 73 =

(V) 73+89 =

(vi) 239 + 328 =
(vii) 28 + 34 + 56 =
(viii) 39 + 49 + 59 =
(ix) 180 + 810+ 0 =

(x)10+50+70=
(xi)93+94 +95 =




(xii) 247 + 275 + 308 =

C. Find the number which is:
(i) 53172 more than 64278

(i1) 52 more than 64278

(ii1) 1872 more than 23265

(iv) 1872 more than 232




